

## Some Expansion Formulae For The Aleph ( $\aleph$ )-Function

Yashwant Singh and Poonam Kumari \*

*Department of Mathematics, Government College, Kaladera, Jaipur (Rajasthan), India*

*\* Department of Mathematics, Institute of Integrated & Honors Studies, Kurukshetra University, Kurukshetra*

*Corresponding Author: Poonam Kumari*

**Abstract:** In the present paper, the author has established two expansion formula of Aleph  $\aleph$ -Function.

**Keywords:**  $\aleph$ -Function, Expansion Formula, Gamma Function

(2010 Mathematical Subject Classification: 33C99)

Date of Submission: 11-03-2019

Date of acceptance: 28-03-2019

### I. INTRODUCTION

The  $\aleph$ -function introduced by Suland et.al. [3] defined and represented in the following form:

$$\begin{aligned} \aleph[z] &= \aleph_{p_i, q_i; \tau_i; r}^{m, n}[z] = \aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ z \mid \begin{matrix} (a_j, \alpha_j)_{1, n}, [\tau_i(a_{ji}, \alpha_{ji})]_{n+1, p_i} \\ (b_j, \beta_j)_{1, m}, [\tau_i(b_{ji}, \beta_{ji})]_{m+1, q_i} \end{matrix} \right] \\ &= \frac{1}{2\pi w} \int_L \theta(s) z^s ds \end{aligned} \quad (1.1)$$

Where  $w = \sqrt{-1}$ ;

$$\theta(s) = \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \tau_i \left\{ \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right\}} \quad (1.2)$$

We shall use the following notations:

$$A^* = (a_j, \alpha_j)_{1, n}, [\tau_i(a_{ji}, \alpha_{ji})]_{n+1, p_i}; B^* = (b_j, \beta_j)_{1, m}, [\tau_i(b_{ji}, \beta_{ji})]_{m+1, q_i}$$

### II. EXPANSION FORMULA

#### First Formula

$$\aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \eta \omega \left| \begin{matrix} A^* \\ B^* \end{matrix} \right. \right] = \eta^{\frac{b_1}{\beta_1}} \sum_{r=0}^{\infty} \frac{\left[ 1 - \eta^{\frac{1}{\beta_1}} \right]^r}{r!} \aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \omega \left| \begin{matrix} A^* \\ (r+b_1, \beta_1), (b_j, \beta_j)_{2, m}, [\tau_i(b_{ji}, \beta_{ji})]_{m+1, q_i} \end{matrix} \right. \right] \quad (2.1)$$

Where  $\eta$  is written for  $m=1$  and for

$$m > 1, \left| \eta^{\frac{1}{\beta_1}} - 1 \right| < 1; \arg(\eta \omega) = \beta_1 \arg(\eta^{\frac{1}{\beta_1}}) + \arg \omega \text{ and } \left| \arg(\eta^{\frac{1}{\beta_1}}) \right| < \frac{\pi}{2}.$$

Proof: R.H.S. =  $\eta^{\frac{b_1}{\beta_1}} \sum_{r=0}^{\infty} \frac{\left[ 1 - \eta^{\frac{1}{\beta_1}} \right]^r}{r!} \aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \omega \left| \begin{matrix} A^* \\ (r+b_1, \beta_1), (b_j, \beta_j)_{2, m}, [\tau_i(b_{ji}, \beta_{ji})]_{m+1, q_i} \end{matrix} \right. \right]$

$$= \eta^{b_1/\beta_1} \sum_{r=0}^{\infty} \frac{\left[1 - \eta^{1/\beta_1}\right]^r}{r!} \frac{1}{2\pi w} \int_L \frac{\Gamma(r + b_1 - \beta_1 s) \prod_{j=2}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \tau_i \left\{ \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right\}} \omega^s ds$$

On changing the order of integration and summation under the integral sign, we get

$$\begin{aligned} \text{R.H.S.} &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_1/\beta_1} \sum_{r=0}^{\infty} \frac{\left[1 - \eta^{1/\beta_1}\right]^r}{r!} \Gamma(r + b_1 - \beta_1 s) \right] ds \\ &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_1/\beta_1} \sum_{r=0}^{\infty} \frac{\left[1 - \eta^{1/\beta_1}\right]^r}{r!} (b_1 - \beta_1 s)_r \Gamma(b_1 - \beta_1 s) \right] ds \\ &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_1/\beta_1} \left[1 - (1 - \eta^{1/\beta_1})\right]^{-(b_1 - \beta_1 s)} \Gamma(b_1 - \beta_1 s) \right] ds \\ &\quad \left[ \because \sum_{r=0}^{\infty} \frac{x^r}{r!} (a)_r = (1 - x)^{-a} \right] \\ &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_1/\beta_1} \left[\eta^{1/\beta_1}\right]^{-b_1 + \beta_1 s} \Gamma(b_1 - \beta_1 s) \right] ds \\ &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \eta^s \Gamma(b_1 - \beta_1 s) ds \\ &= \frac{1}{2\pi w} \int_L \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \tau_i \left\{ \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right\}} (\omega \eta)^s ds = \text{L.H.S.} \end{aligned}$$

**Second Formula**

$$\aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \eta \omega \left| \begin{matrix} A^* \\ B^* \end{matrix} \right. \right] = \eta^{b_q/\beta_q} \sum_{r=0}^{\infty} \frac{\left[\eta^{1/\beta_q} - 1\right]^r}{r!} \aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \omega \left| \begin{matrix} A^* \\ (b_j, \beta_j)_{1, m}, \{\tau_i(b_{ji}, \beta_{ji})\}_{m+1, q_i-1}, (r+b_q, \beta_q) \end{matrix} \right. \right] \quad (2.2)$$

Where  $q > m, |\eta^{1/\beta_q} - 1| < 1; \arg(\eta \omega) = \beta_q \arg(\eta^{1/\beta_q}) + \arg \omega$  and  $|\arg(\eta^{1/\beta_q})| < \frac{\pi}{2}$ .

$$\begin{aligned} \text{Proof: R.H.S.} &= \eta^{b_q/\beta_q} \sum_{r=0}^{\infty} \frac{\left[\eta^{1/\beta_q} - 1\right]^r}{r!} \aleph_{p_i, q_i; \tau_i; r}^{m, n} \left[ \omega \left| \begin{matrix} A^* \\ (b_j, \beta_j)_{1, m}, \{\tau_i(b_{ji}, \beta_{ji})\}_{m+1, q_i-1}, (r+b_q, \beta_q) \end{matrix} \right. \right] \\ &= \eta^{b_q/\beta_q} \sum_{r=0}^{\infty} \frac{\left[\eta^{1/\beta_q} - 1\right]^r}{r!} \frac{1}{2\pi w} \int_L \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1 - a_j + \alpha_j s)}{\sum_{i=1}^r \tau_i \left\{ \Gamma(1 - r - b_q + \beta_q s) \prod_{j=m+1}^{q_i-1} \Gamma(1 - b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right\}} \omega^s ds \end{aligned}$$

On changing the order of integration and summation under the integral sign, we yield

$$\begin{aligned}
 \text{R.H.S.} &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_q/\beta_q} \sum_{r=0}^{\infty} \frac{[\eta^{1/\beta_q} - 1]^r}{r! \Gamma(1-r-b_q + \beta_q s)} \right] ds \\
 &= \frac{1}{2\pi w} \int_L \theta(s) \omega^s \left[ \eta^{b_q/\beta_q} \sum_{r=0}^{\infty} \frac{[\eta^{1/\beta_q} - 1]^r}{r!} \frac{1}{(1-b_q + \beta_q s)_r \Gamma(1-b_q + \beta_q s)} \right] ds \\
 &= \frac{1}{2\pi w} \int_L \frac{\theta(s) \omega^s}{\Gamma(1-b_q + \beta_q s)} \sum_{r=0}^{\infty} \frac{[\eta^{1/\beta_q} - 1]^r (-1)^r [1-(1-b_q + \beta_q)]_r}{r!} ds \\
 &= \frac{1}{2\pi w} \int_L \frac{\theta(s) \omega^s}{\Gamma(1-b_q + \beta_q s)} \sum_{r=0}^{\infty} \frac{[1-\eta^{1/\beta_q}]^r}{r!} \eta^{b_q/\beta_q} [b_q - \beta_q s]_r ds \\
 &= \frac{1}{2\pi w} \int_L \frac{\theta(s) \omega^s}{\Gamma(1-b_q + \beta_q s)} \left[ 1 - (1-\eta^{1/\beta_q}) \right]^{-(b_q - \beta_q s)} \eta^{b_q/\beta_q} ds \\
 &\quad \left[ \because \sum_{r=0}^{\infty} \frac{x^r}{r!} (a)_r = (1-x)^{-a} \right] \\
 &= \frac{1}{2\pi w} \int_L \frac{\theta(s) \omega^s}{\Gamma(1-b_q + \beta_q s)} \left[ (\eta)^{1/\beta_q} \right]^{-(b_q - \beta_q s)} \eta^{b_q/\beta_q} ds \\
 &= \frac{1}{2\pi w} \int_L \frac{\theta(s) \omega^s \eta^s}{\Gamma(1-b_q + \beta_q s)} ds \\
 &= \frac{1}{2\pi w} \int_L \frac{\prod_{j=1}^m \Gamma(b_j - \beta_j s) \prod_{j=1}^n \Gamma(1-a_j + \alpha_j s)}{\sum_{i=1}^r \tau_i \left\{ \prod_{j=m+1}^{q_i} \Gamma(1-b_{ji} + \beta_{ji} s) \prod_{j=n+1}^{p_i} \Gamma(a_{ji} - \alpha_{ji} s) \right\}} (\omega \eta)^s ds = \text{L.H.S.}
 \end{aligned}$$

For  $\tau_i = 1, r = 1$  in (2.1),(2.2), we get the results in terms of Fox's H-function [1], [2].

### REFERENCES

- [1]. Fox, C.; The  $G$ -function and  $H$  function as symmetric Fourier kernels, Trans. Amer. Math. Soc. 98, (1961), 396-429.
- [2]. Srivastava, H.M., Gupta, K.C. and Goyal, S.P.; The H-Functions of One and Two Variable with Applications, South Asian Publishers, New Delhi and Madras, (1982).
- [3]. Sudland, N., Baumann, B. and Nonnenmacher, T.F.; Open problem: who knows about the Aleph( $\aleph$ )-functions? Frac. Calc. Appl. Annl. 1(4),(1998), 401-402.

Poonam Kumari. "Some Expansion Formulae For The aleph( $\aleph$ )-Function." IOSR Journal of Engineering (IOSRJEN), vol. 09, no. 03, 2019, pp. 51-53.